ﬁPERFDRMA NCE

COLD AIR INTAKE

(2016-2023+ CAMARO - 6.2L ; EXCLUDING ZL1)

INSTALLATION INSTRUCTIONS

CONTENTS TOOLS REQUIRED

1) Air Filter T-25 Torx Bit

1) MAF Housing 10mm Socket/Wrench
1) Heat Shield Ratchet

1) Heat Shield Bracket Flathead Screwdriver
1) Intake Tube Phillips Screwdriver

2) Couplers

4) Clamps

Sound Tube Plug

M6 Threaded Inserts

4) M6x1.00 x 15mm Flange Bolts
M6x1.00 x 20mm Bolts

M6 Lock Washers

M6 Flat Washers

M6 Lock Nut

(1)
(1)
(1)
(1)
(1)
(2)
(4)
(1) Weatherstripping
(1)
(3)
(4)
(2)
(6)
(6)
(1)

SKU # CC26400



@FDERFDRMANCE

STEP1

LD

Unplug the vehicle MAF sensor, and unclip the wiring harness from the vehicle air box.

STEP 2

Unplug the PCV from the intake tube. Then, remove the sound tube from the intake tube.



@FDERFDRMANCE

STEP 3

Loosen (1) 8mm clamp securing the intake tube to the throttle body.

STEP 4

Remove the intake tube from the throttle body, and firmly lift the air box to dislodge the mounts
from the vehicle rubber grommets. Remove the original intake assembly from the vehicle. Seton a
workable surface for disassembly.

Note: If the rubber grommets are removed with the air box, remove the rubber grommets from the
air box and re-install the grommets into the vehicle holes.



@FDERFDRMANCE

STEP S

Fit the (3) M6 threaded inserts into the original air box rubber grommets.

STEP 6

Secure the rear of the heat shield to the previously installed threaded inserts using (2) M6 x 15mm
Flange bolts, (2) M6 lock washers, and (2) M6 flat washers.



@FDERFDRMANCE

STEP7

Secure the included heat shield mounting bracket to the heat shield using (1) M6 x 15mm flange
bolt, (1) M6 lock washer, (2) M6 flat washers, and (1) M6 nut. Then, secure the mounting bracket to
the previously placed threaded insert using (1) M6 flange bolt, (1) M6 lock washer, and (1) M6 flat
washer.

STEP 8

Transfer the vehicle MAF sensor from the original intake tube to the new intake tube MAF housing.
Secure the MAF sensor to the new housing using the included (2) Phillips bolts.

Note: The MAF sensor is directional and can only be installed in one direction.



@FDERFDRMANCE

STEP9

Secure the MAF housing to the intake heat shield using (2) M6 x 20mm Hex bolts, (2) M6 lock
washers, and (2) M6 flat washers into the MAF housing threaded inserts.

STEP 10

Secure the air filter to the previously installed MAF housing using the included air filter clamp.



@FDERFDRMANCE

AV’\L‘ /i
Ny i

STEP 11

Install (1) coupler and (2) clamps to the MAF housing. Then, install (1) coupler and (2) clamps to
the intake tube. Then, fit the intake tube to the MAF housing and throttle body. Ensure both

couplers are properly fitted, and tighten the clamps to secure the intake tube into place.

g

STEP 12

Press the PCV hose onto the intake tube fitting.

Use the included rubber grommet to cap off the sound tube.



@FDERFDRMANCE

STEP 13

Plug in the MAF sensor harness into the MAF sensor. Route the harness away from any hot/mov-
ing components. Ensure all clamps are secure. Route the included weatherstripping around the
perimeter of the heat shield, trim to fit as necessary.

Installation is now complete.



	CC26400 - SR Performance - Cold Air Intake (16-19 Camaro 6.2L excl ZL1)-01
	CC26400 - SR Performance - Cold Air Intake (16-19 Camaro 6.2L excl ZL1)-02
	CC26400 - SR Performance - Cold Air Intake (16-19 Camaro 6.2L excl ZL1)-03
	CC26400 - SR Performance - Cold Air Intake (16-19 Camaro 6.2L excl ZL1)-04
	CC26400 - SR Performance - Cold Air Intake (16-19 Camaro 6.2L excl ZL1)-05
	CC26400 - SR Performance - Cold Air Intake (16-19 Camaro 6.2L excl ZL1)-06
	CC26400 - SR Performance - Cold Air Intake (16-19 Camaro 6.2L excl ZL1)-07
	CC26400 - SR Performance - Cold Air Intake (16-19 Camaro 6.2L excl ZL1)-08

